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By integrating P, from - jFr g J pj/grr to eoand by integrating the

remaining pj from - epto e@this integration can be performed.

During

a subsequent integration over all qi other than i=r, q¥ is kept at the

value zero.
> e-—H/kT/ j,)pr' The p, integration yields (23):
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and H' isgiven by (26). It is the value of H when q"
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Since 4T is T\H/?¥p?, 4T exp(-H/kT) equals -kT

= 0. Thus,

it is the value of H for a system constrained to exist on the hyper-

surface of 8.
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The quantity glj is easily shown to be conjugate to gij
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space for which dq° = 0, i.e., on the hypersurface, .
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